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15-TEFVT #5921 /-l 0 0 0 0 0 0 0 0] 38 10 271 1,100
3-THFNT AV L)) 0 0 0 0 0 0 0 0 38 0 0 0
HT-2 M5y 0 0 0 0 0 0 0 0 38 21 9 16
T-2h49Y 178 12 5 10 1 0 0 0 171 25 6 21
a-t" 733/-V 178 0 0 0 1 0 0 0 147 0 0 0
a-t 730/l 178 2 8 9 1 0 0 0 147 5 8 14
H B—t733/-W 178 0 0 0] 1 0 0 0 147 0] 0 0
B -t 730/l 178 11 6 16 1 0 0 0 147 6 6 12
777 bYVB1 0 0 0 0 0 0 0 0 101 2 1 2
77704982 178 2 1 2 1 0 0 0 152 3 2 4
777 MY061 178 4 3 8 1 0 0 0 152 4 4 10
777 Y062 178 1 1 1 1 0 0 0 152 0 0 0
IV N Y 0 0 0 0 0 0 0 0 2 2 1Al 110
U TH7 b VA 44 4 14 21 0 0 0 0 10 0 0 0
Y TEMYAYIAT /-l 0 0 0] 0 0 0 0 0 38 0 0 0
yhZY 0 0 0 0 0 0 0 0 10 0 0 0
ATYS VMNAFY 178 50 1 9 1 0 0 0 144 34 1 8
v 733/Y 178 5 3 8 1 0 0 0 147 1 2 2
&1V 58 51 31 280 0 0 0 0 147 130 21 500
FAEZN V- 0 0 0 0 0 0 0 0 171 117 402| 4,300
- T ARV V) --3-5" Ay h 0 0 0 0 0 0 0 0 38 17 117 390
BFoln /- 178 8 67 100 1 0 0 0 119 19 16 34
Y721 178 0 0 0 1 0 0 0 1717 1 11 11
74 b/U-X 178 0 0 0 1 0 0 0 171 0 0 0
7E2YVB1 19 19 186 860 0 0 0 0 61 58 250 2,400
7E29VB2 19 19 53 250 0 0 0 0 61 55 73 720
7E-%VB3 19 19 25 120 0 0 0 0 61 57 32 330
n' buAB 0 0] 0 0 0 0 0 0 2 0 0 0
BHC 0 0 0 0 1 0 0 0 220 0 0 0
DDT 0 0 0 0 1 0 0] 0 220 0 0 0
2z |[EPN 134 0 0 0 1 0 0 0 252 1 14 74
THbn-) 134 0 0 0] 1 0 0 0 252 0 0 0
TR 134 0 0 0 1 0 0 0 172 0 0 0
= 7=0HA 134 0 0 0 1 0 0 0 252 0 0] 0
TrANY 134 0 0 0 1 0 0 0 252 0 0 0
7390-) 134 0 0 0 1 0 0 0 171 0 0 0
. [7UrhE-p 134 0 0 0 1 0 0 0 252 0 0 0
TN YU BT 4hE )Y 0 0] 0 0 1 0] 0 0] 220 0] 0 0
TLAYY 134 0 0 0 1 0 0 0 252 0 0 0
® 14 A 134 0 0 0 1 0 0 0 252 0 0 0
{Y7198%A 134 0 0 0 1 0 0 0 213 0 0 0
197" B¥t3Y 134 0] 0 0 1 0 0 0 252 1 49 49
e 47°0A" VA 134 0 0 0 1 0 0 0 252 0 0 0
IANINTY)Y 134 0 0 0 1 0 0 0 252 0 0 0
IFtY 134 0 0 0 1 0 0] 0 220 0 0] 0
% IT {71VhA 134 0 0 0 1 0 0 0 252 0 0 0
INI1Y7° Ay 134 0 0 0 1 0 0 0 252 0 0 0
Ip74E-b 134 0 0 0 1 0 0 0 252 0 0 0
IM) Ak 134 0 0 0 1 0 0 0 252 0 0 0
(3 MY 7Y b 134 0 0 0 1 0 0 0 252 0 0 0
IM) LKA 134 0 0 0 1 0 0 0 252 0 0 0
N N )y 0 0 0 0 1 0 0 0 220 0 0 0
= T Y 134 0 0 0 1 0 0 0 252 0 0 0
BA YA 134 0 0 0 1 0 0 0 252 0 0] 0
W71V b5Y VIFL 134 0 0 0 1 0 0 0 252 0 0 0
T UMY 134 0 0 0 1 0 0 0 252 0 0 0
7 1) b 0 0 0 0 0 0 0 0 15 15[ 1,810 3,640
- b Wik d—b 0 0 0 0] 0 0 0 0] 15 13 99 213
VIWEING I 134 0] 0 0] 1 0 0 0 252 0 0 0
Fang=y" Al 134 0 0 0 1 0 0 0 252 0 0 0
oy v 78 0 0 0 1 0 0 0 180 0 0 0
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HINE UAA 134 2 39 42 1 1 72 72 1712 0 0 0
HONE URAITI 134 16 85| 340 1 1 310] 310] 204 14 55 110
AITTE I 134 0 0 0 1 0 0 0 252 0 0 0
MNTIVE VHA 134 0 0 0 1 0 0 0] 209 0 0 0
. [pw7 ok 134 1 24 24 1 0 0 0| 208 0 0 0
e TP 134 0 0 0 1 0 0 o 213 0 0 0
Y kT A5l 134 0 0 0 1 0 0 0| 252 0 0 0
UL 134 0 0 0 1 0 0 o 252 0 0 0
yAIRYY 134 0 0 0 1 0 0 o 172 0 0 0
NS 134 0 0 0 1 0 0 0| 252 0 0 0
N e 134 0 0 0 1 0 0 0| 252 0 0 0
RS 134 0 0 0 1 0 0 o 252 0 0 0
S ApI-F 134 0 0 0 1 0 0 o 172 0 0 0
Y AE A U-F 134 0 0 0 1 0 0 0] 252 0 0 0
S5INAITY 134 0 0 0 1 0 0 0] 252 0 0 0
5= Yl 134 0 0 0 1 0 0 0] 252 0 0 0
~ [ 134 0 0 0 1 0 0 o 172 0 0 0
FIN VAT 134 0 0 0 1 0 0 0| 252 0 0 0
i) 134 0 0 0 1 0 0 o 252 0 0 0
7E59I0E UAR 134 0 0 0 1 0 0 o 252 0 0 0
715317 b 134 0 0 0 1 0 0 0| 252 0 0 0
w IR 134 0 0 0 1 0 0 o 252 0 0 0
77 3 b 134 0 0 0 1 0 0 o 252 0 0 0
77 719 51 134 0 0 0 1 0 0 0 252 0 0 0
ESTIVE) 134 0 0 0 1 0 0 0| 252 0 0 0
7 WA R RSN 134 3 101] 170 1 0 0 o 172 1 36 36
7 M)y 134 0 0 0 1 0 0 0| 252 0 0 0
@ [707 8 134 0 0 0 1 0 0 ol 172 0 0 0
7Y AhY 134 0 0 0 1 0 0 o 252 0 0 0
FJ7L-F 134 0 0 0 1 0 0 o 252 0 0 0
YEI5IR) 134 0 0 0 1 0 0 0| 252 0 0 0
M705VAMAE Y 134 0 0 0 1 0 0 0| 252 0 0 0
YEES 134 0 0 0 1 0 0 o 252 0 0 0
W 7o iy 134 0 0 0 1 0 0 o 252 0 0 0
N 55y 134 0 0 0 1 0 0 o 172 0 0 0
N SFEUAFL 134 0 0 0 1 0 0 0| 252 0 0 0
7157 By9A 134 0 0 0 1 0 0 0| 252 0 0 0
E 7MY 134 7 31 62 1 0 0 0| 252 1 25 25
5 [EA R 134 0 0 0 1 0 0 o 252 0 0 0
E U I 134 0 0 0 1 0 0 o 252 0 0 0
EUrA Y 134 0 0 0 1 0 0 o 252 0 0 0
E 7 08y 134 0 0 0 1 0 0 0| 252 0 0 0
EUSRAAFL 134 37| 159] 560 1 1 54 54| 204 4] 266] 900
E vy )y 134 0 0 0 1 0 0 o 252 0 0 0
& |7 0 0 0 0 1 0 0 0] 220 0 0 0
THED 134 0 0 0 1 0 0 0] 252 0 0 0
I b OFEY 134 6 33 41 1 0 0 o 172 0 0 0
JL/FEINT 134 0 0 0 1 0 0 0| 252 0 0 0
717 1)y 134 0 0 0 1 0 0 0| 252 1 27 27
oy 134 0 0 0 1 0 0 o 252 0 0 0
T Hobr-r 134 0 0 0 1 0 0 0| 204 0 0 0
TION U=} 0 0 0 0 1 0 0 o 220 0 0 0
9157 317 I 134 0 0 0 1 0 0 o 252 0 0 0
7107 an MY 134 0 0 0 1 0 0 o] 220 0 0 0
7 53R 134 0 0 0 1 0 0 o 252 0 0 0
—  [73L7 097 390 134 0 0 0 1 0 0 0] 252 0 0 0
TWIRYR=F 134 0 0 0 1 0 0 0| 252 0 0 0
ISE] 134 0 0 0 1 0 0 0| 252 0 0 0
IR 134 0 0 0 1 0 0 0| 252 0 0 0
T 5=t 134 0 0 0 1 0 0 o 252 0 0 0
I Y 134 0 0 0 1 0 0 o 252 0 0 0
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VIHRTYIN UFI 134 0 0 0 1 0 0 0] 252 0 0 0
7° 093N Y 134 0 0 0 1 0 0 0 252 0 0 0
2 (77an - 134 0 0 0 1 0 0 0 252 0 0] 0
770N Y Y 134 0 0 0 1 0 0 0 252 0 0 0
778N 2 134 0 0 0 1 0 0 0 252 1 39 39
17700 ¥ wb 134 0 0 0 1 0 0 0 252 0 0 0
7°0E" Ity -b 134 0 0 0] 1 0 0 0 252 1 310 310
7° 0774 134 0 0 0] 1 0 0 0 252 0 0 0
~ |77 R71/8%% 134 0 0 0 1 0 0 0 252 0 0 0
7° 0N 4R 134 0 0 0 1 0 0 0 252 0 0 0
7°0%7 M 134 0 0 0 1 0 0 0 252 0 0 0
£ |7 7" 08" b-b 134 0 0 0 1 0 0 0 252 0 0 0
7" kA 134 0 0 0 1 0 0 0 252 0 0 0
ARy - 134 0 0 0 1 0 0 0 252 0 0 0
oA - 134 0 0 0 1 0 0 0 252 0 0 0
A7° §ho) 0 0 0 0 1 0 0 0 220 0 0 0
AT LAY 134 0 0 0 1 0 0 0 172 0 0 0
Mo~ vty - 134 0 0 0] 1 0 0 0] 252 0 0 0
A YT 4Ry 134 0 0 0 1 0 0 0 172 0 0 0
A" YINFY Y 134 0 0 0 1 0 0 0 252 0 0 0
z  [|#ny 134 0 0 0 1 0 0 0 252 0 0 0]
RAFPE - 134 0 0 0] 1 0 0 0 252 0 0 0
FAFy b 134 0 0 0 1 0 0 0 172 0 0 0
g |fb-b 134 0 0 0 1 0 0 0 172 0 0 0
374y 134 3 69 140 1 0 0 0 172 8 65 130
F49YhA 134 0 0 0 1 0 0 0 252 0 0 0
L [r55 71y 134 0 0 0 1 0 0 0 172 0 0 0
FhEvA0) 134 0 0 0 1 0 0 0 252 0 0 0
- FP3/AMOET Y 134 0 0 0 1 0 0 0 252 1 38 38
Fh790-)) 134 0 0 0 1 0 0 0 252 0 0 0
VbR 134 0 0 0 1 0 0 0 252 0 0 0
T Y 0 0 0 0 1 0 0 0] 220 0] 0 0
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[y -GEes RS fR EXPN L]
X v B " E 54 E " E 54 B " E 54
wme | B8 H 1 PN B H 1 PN 5] H 1 PN
=1 £ & & =1 # & & =1 # & &
HERIEE 2 2 2
(mg/kg) | (mg/kg) (mg/kg) | (mg/kg) (mg/kg) | (mg/kg)
7 BREREEAR 0 0 0 0 0 0 0 0 10 0 0 0
O |[BREER 0 0 0 0 0 0 0 0 10 10 489] 800
fh [R5y 0 0 0 0 0 0 0 0 11 7 272 740
[y GEs) By GE) Bk
X o = [ [ = [ [ = [ [
R T * & * * & T T
J=1 J=1 %= J=1 J=1 %= J=1 J=1 &=
HRBREE (EfD) # # # # # #
(%) (%) (%)
RIRBEY [hErT 7 2| 28.6% 1 0  0.0% 15 0| 0.0%
£t 7 2] 28.6% 1 ol 0.0% 15 ol 0.0%
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